FAEHRJIFA U-184vh—1)—42023 ILOBRI—RY—F3ER T (EA)—/

@ 1000
|72 yrEsgssor B K BE2Vs2TF # I %
) 1000
122 o mmpyooor D1 OB L 3VS 2R F
& 1200
W2 Bk rmgysouE T mavsoxr E I X
& 1200
2 fmsggysyor T B T M BOVSIE € B
il
. (£) 12:00 o
7720 GB) 1200 % m T Z£1VSIT M I HB
() 12:00
12 npamgssoor B W B I SVS2TF M IOX
() 12:00
2|1/29 yosmmir 5ok B B EIVS2TF i
() 14.00 .
12/2 @5k E € B4VSAER F
il
@) 1000 =
g |8/26 S 1000 w EH T Z2VSI1TF # T %
(&) 1200
8/26 | Hmmmfrsour FM2Vs1T B T M B
® 1400
3(8/26 | nmmmmysvar T WAIVSOR; & T
TE 7] ¥ 74 VS 0E b3 B
i
w5 [10/14 (£) =
% BREEET S A B T xovs2lp m &
(8) 11:00
1224 R S & FASVSTT # T %
(1) 12:00
4190 ErusEnam E € BIVSIH W B I
(A) 12:00
Y18 Sy on—ri—pATE T #4VSOT B T BB
il
— (A) 1000 5
£ g/wisa)ﬂyvvﬁ—/\“—w\li B & BIVS3T # I =
&) 1000
10721 sttt AT T ¥ Bm7VSOT B T ® B
&) 1200
51192 Sy pon—ss—sazz T 4 Vs s& M
(&) 1400 =
02 oy yap—s—oazz B B T X 1VSIH K OB T
i
@) 1400 =
g |9/16 (D) 1A % E T Z3VsoE F
(A) 10:00
9/18“‘J)bf?l"V?AAIigEWEQME’S IIUJ_ R:f % I 0 VS 5 I“H H:T E
@) 1000
6|92 glixmmeysor T msvs2g £ B
&) 1400
o2 (B 140 e T B I ETIVSOT B I BB
il
@& 1000
% 9/23 5574— LK@ BIURK—YTLTLyHR) L #m1Vvs 1T # T %
&) 1200 =
T s e 5 B I ¥ 2VS2E & B
(&) 1000
R T e K #E2VSO0R M
(£) 1400
2B sty g W M B T 2VSOTF B T HB
il




